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m= 0.855L = ( 1 - 3.000V =+ 100)= 30.2

m = SL =( 1 - 2.000V = 100)= 32.1

UEEY, BEREm =32. 1(N/mb) & LET, m = 32.1(N/mf)
KEAL MEEW/C)

W/C =225 +(32.1+ 10.6) X 100 = 52.693 (%) W/C= 52.5(%)
EALKEW) U ERE W= 166(kg/nf)
Bt A FE(C)

C=W -+ W/C X 100 = 166 = 52.5 X 100 = 316 (kg/nf) C=316(kg/nt)

Ve =C +pc= 316 ~ 3.04=104(0/nf) Ve=  104(Q /nf)
HEM N SERE (L /) B FERE V= 582(0Q/nf)
HAHEM & (6)

Vg =V XERFER- 100 = 582 X 59.5 = 100 = 346(0Q /nf) Vg=  346(Q /mt)

Vgl = Vg X( 60 =( 60 + 40))= 208(Q/nf) Vgl=  208(L /nf)

Vg2 = Vg — Vgl = 138(0Q /nf) Vg2=  138(LQ /nf)

Gl = Vgl X pgl = 208 X 2.72 = 566 (kg/nt) Gl= 566 (kg/nt)

G2 = Vg2 X pg2 = 138 X 2.72 = 375(kg/nt) G2= 375 (kg/nt)
HALHIEM & (S)

Vs =2v))- &xFF-( W + Ve + Vg +Vair)

= 1000 -( 166 + 104 + 346 + 45 )= 339(Q/nf) Vs=  339(L/n)

Vsl =Vs X( 50 =( 50+ 50))= 170(Q/nt) Vsl=  170(Q /nf)

Vs2 = Vs — Vsl = 169(0Q /nt) Vs2= 169(Q /nuf)

S1 =Vsl Xpsl = 170 X 2.65 = 451 (kg/nt) Si= 451 (kg/nt)

S2 =Vs2 X ps2 = 169 X 2.55 = 431 (kg/nf') S2= 431 (kg/nf)
AEH 2 (s/a) '

s/a= Vs+ (Vs+Vg) X100 = 339 = ( 339 + 346) X100 = 49.5(%) s/a= 49.5(%)
HALRFIAIE (Ad)

Adl = C X ¥INZEX padl+100

= 316 X 1.00X 1.100=100= 3.48(kg/nt) Adl= 3.48(kg/nf)
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EEMRE (V) LA ERIE V= 80(%

Bl & TR EE (m)

m = 0.855L = ( 1 - 3.000V = 100)= 30.2

m = SL = (1-2.000V + 100)= 32.1

PAEXY, BEAEE (m) = 32. 1(N/mi) & LE, m = 32.1(N/mf)
JKE A REL(W/C)

W/C =225 +(32.1+ 10.6) X 100 = 52. 693 (%) W/C= 52.5(%)
HALKE W) L ERE W= 163(kg/nt)
Bt AL FE(C)

C=W =+ W/C X 100 = 163 + 52.5 X 100 = 310 (kg/nf) C=310(kg/nt)

Ve =C +pc= 310 =3.04 = 102(0/n) Ve= 102(0Q /nt)
HEM S EFRE(Q/nf) LHERE V= 582(Q/nf)
HALEBEM & (G)

Vg = V XZEFEHE+ 100 = 582 X 59.5 =« 100 = 346(Q/nf) Vg=  346(Q /nt)

Vgl = Vg X( 60 =( 60+ 40))= 208(Q/nt) Vgl=  208(Q/nf)

Vg2 = Vg — Vgl = 138(Q/nt) Vg2=  138(Q /nt)

Gl = Vgl Xpgl= 208 X 2.72 = 566 (kg/nft) Gl= 566 (kg/mt)

G2 =Vg2 X pg2 = 138 X 2.72 = 375(kg/nf) G2=  375(kg/nt)
BALAHE A & (S)

Vs =av))-&EFfE-( W + Ve + Vg +Vair)

= 1000 —( 163 + 102 + 346 + 45 )= 344(Q/nf) Vs=  344(Q/nf)

Vsl =Vs X( 50 =( 50+ 50))= 172(2/nt) Vsl=  172(Q/nf)

Vs2 = Vs — Vsl = 172(0Q /nt) Vs2=  172(0 /nf)

S1 =Vsl X psl = 172 X 2.65 = 456 (kg/n’) S1= 456 (kg/nt')

S2 =Vs2 X ps2 = 172 X 2.55 = 439 (kg/nf) S2= 439 (kg/nt)
B R (s/a)

s/a= Vs+ (Vs+Vg) X100 = 344 = ( 344 + 346) X100 = 49.9(%) s/a= 49.9%)
HEAIRFAI £ (Ad)

Adl = C X ¥MMEX padl+100

= 310 X 1.00X 1.100=100= 3.41 (kg/nf) Adl= 3.41 (kg/nf)
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BTN VI DRIGPEC & % K5 i RHHIC Sk e dikay ) )—} o B A BT = kg/nt
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i (RO R OB | b R R AR Ml s | R A0 R0 LR — ke/w
H— | A E At 0.30  ke/nf LT | Bifirty ko> B ZAEOD T HR _ kg/nf

IEONREE % {79 5 Bl - A | XU E R EO ER

ZERUR - % | TR E DATv7 BRI _ cm
EEMREL (V) L ERE V=80
BEAFREE (m)

m = 0.85SL <+ ( 1 - 3.000V = 100)= 30.2

m = SL = (1 - 2.000V = 100)= 32.1

UEXY, BEEEMm = 32. 1(N/mhb) & L, m = 32.1(N/mf)
KT A M EL(W/C)

W/C =225 +(32.1+ 10.6) X 100 = 52.693 (%) W/C= 52.5(%)
EALKE (W) LA ERE W= 160(kg/ni)
Bt A2 RE(C)

C=W -+ W/C X 100 = 160 = 52.5 X 100 = 305 (kg/nf") C=305(kg/nt)

Ve =C +pc= 305+ 3.04 = 10000 /nf) Ve= 100(Q /nt)
HEM S BFE(Q /nf) L ERE = 582(0Q/nf)
HEAEME (6)

Vg =V XZEMEE 100 = 582 X 59.5 +~ 100 = 346(Q/nf) Vg= 346(0 /nf)

Vgl = Vg X( 60 =( 60 + 40))= 208(Q/nf) Vgl=  208(0 /nt)

Vg2 = Vg - Vgl = 138(0 /nt) Vg2=  138(Q /nt)

Gl = Vgl Xpgl= 208 X 2.72 = 566 (kg/nt) Gl= 566 (kg/nf)

G2 =Vg2 X pg2 = 138 X 2.72 = 375(kg/nt) G2=  375(kg/nf)
HEALMIEME(S)

Vs =av))-}&EfE-( W + Ve + Vg +Vair)

= 1000 -( 160 + 100 + 346 + 45 )=  349(Q /nf) Vs=  349(0 /uf)

Vsl = Vs X( 50 =( 50 + 50))= 175(Q /uf) Vsl=  175(0/nt)

Vs2 = Vs - Vsl = 174(Q /nf) Vs2=  174(0 /nt)

S1 =Vsl Xpsl = 175 X 2.65 = 464 (kg/nf) Sl= 464 (kg/nt)

S2 = Vs2 X ps2 = 174 X 2.55 = 444 (kg/nf) S2= 444 (kg/nf)
B (s/a)

s/a= Vs+ (Vs+Vg) X100 = 349 = ( 349 + 346) X100 = 50.2(%) s/a= 50.2(%)
AL IRFNAI & (Ad)

Adl = C X IINEX padl+100

= 305 X 1.00X 1.100--100= 3.36(kg/nt) Adl=  3.36(kg/nt)

ieaZFk (kg nf)
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